

ABBSOFT COMPUTERS

JAVA
 (1-MARK questions)

1. Java began life as the programming language ______

a. Oak

b. C++

c. C

d. None of the above

2. Oak was developed by the 

a. Patrick Naughton

b. Mike Sheridan

c. Jamesh Gosling

d. All of the above

3. Real constant can be represented in 2 forms:

a. Decimal form, exponential  form

b. Integer, decimal form

c. Exponential form , integer

d. Decimal form, real form

4. Name the first graphical browser 

a. Mosaic

b. Internet Explorer

c. Mozila

d. Netscape Navigator

5. ______________ became an integral part of the web.

a. Kava

b. Java

c. Pal

d. None of the above

6. Java defines data as objects with methods that support the ______

a. Objects

b. Class

c. Objects and Class

d. None of the above

7. Any code that you write in Java is inside a _____

a. Class

b. Objects

c. Applets

d. None of the above

8. Java is both _______________

a. Compiled and Interpreted

b. Interpreted and Assembled

c. Complied and Assembled

d. None of the above

9. Integer values lie between

a. –30657,31658

b. –32768, 32767

c. –31757,31758

d. –32568,32768

10. The % operator gives the

a. Quotient

b. Remainder

c. None

d. Both

11. The output of the following

a>b? a : b+10;

If A=10, b=5

a. 10

b. 15

c. 5

d. none of the above

12. A character variable can at ime store

a. 1 character

b. 8 character

c. 254 character

d. none of the above

13. If a is an integer variable , a=5/2; will return a value

a. 2.5

b. 3

c. 2

d. 0

14. The expression x=4+2%-8 evaluates to

a. –6

b. 6

c. 4

d. none of the above

15. A class is a ____________ for number of objects.

a. Function

b. Variable

c. Template

d. Data

16. The multi-way branching can be achieved by

a. If-then-else

b. Switch case

c. For loop

d. Assignment operator

17. Switch () is a

a. Iterative statement

b. Decision statement

c. Control statement

d. None of the above

18. The goto statement

a. breaks the normal execution

b. continue the sequential execution

c. all the above

d. none of the above

19. The for & while loops are

a. entry loop

b. exit loop

c. continue loop

d. none of the above

20. The continue statement causes

a. Loop to be continue , without executing rest of the statementss in the loop.

b. Loop to be continue, with executing all the statements of the loop

c. Breaks the loop and continue executing the rest of the program   statements

d. None of the above

21. For frequently used variables, efficiency gains can be obtained by keeping the variables as

a. static variable

b. register variable

c. extern variables

d. global variables

22. The following code states that extern int size;

a. it is a variable declaration

b. it is a variable definition

c. both a and b

d. none of the above

23. Out of which is not a keyword in C++

a. array

b. if

c. else

d. extern

24. When we pass array to a function that is passed as :

a. Pass by value

b. Pass by reference

c. Pass by constant

d. Array can’t be passed by function

25. Which of the following set of  operators cannot be overloaded

a. Sizeof, ::, <<

b. Sizeof,::

c. ::,>>

d. <<<,::

26. What math method, invoked this Math.method(x);would return the value –5 given the value of x to be –4.5

a. round()

b. ceil()

c. floor()

d. a and c

27. Structure elements are referenced through the :

a. ‘.’ , ‘->’ operator

b. ‘.’ , ‘*’

c. [],’.’

d. None of the above


28. User defined data types can be created using

a. enum ,class

b. class, struct

c. a and b

d. none of the above

29. Which is not a feature of C++ :

a. data abstraction

b. data hiding

c. polymorphism

d. web connectivity

30. The feature of combining data and functions together is called

a. polymorphism

b. encapsulation

c. overriding

d. none of the above

31. Which of these are the assignment operators

a. +=

b. ==

c. >=

d. =

32. The function consists of three entities:

a. name, parameter, return type

b. name , prototype, return type

c. return type, parameter,signature

d. none of the above

33. The strcmp function returns

a. 0

b. Negative

c. Positive

d. all of the above

34. Objects are

a. function of a class

b. prototype of a class

c. instance of a class

d. none of the above

35. Abstract data types are based on ___________ and have more functionality than the primitive data types. 

a. Primitive Data Types

b. Non Primitive Data Types

c. Standard Data Types

d. None of the above 

36.  The syntax of Java is similar to ____

a. C++

b. C

c. VB

d. None of the above.

37.  Drawback of Interpreter is that it takes more time than ____

a. Compilation

b. Assembled

c. Byte Code

d. None of the above 

38.  Java code is ______

a. Portable

b. Simple

c. Secure

d. All of the above
39. JVM stands for

a. JAVA Virtual Machine

b. Java Vertex Machine

c. Java Vcode Machine

d. Java Virtual Memory

40.  RMI stands for 


a. Remote Method Invocation

b. Remote Machine Invocation

c. Remote Memory Invocation

d. Remote method Initialization

                     ( 2 Marks Questions)

41. a) Java is a programming language developed by  Sun Microsystems

b) Java is not secure

a. a is true and b is false

b. a is false and b is true

c. a is false and b is false

d. a is true and b is true

42.  a) Java programs are less prone to error : Robust 

 b) Java does not allow a programmer to manipulate the memory of the   system :   Secure

a. a is true and b is false]

b. a is true and b Is true

c. a is false and b is false

d. a is false and b is true

43. __________ are special words that are of significance to the Java compiler.

There are _____ reserved keywords currently defined in the java Language.

a. Keywords ,  47

b. Keywords,78

c. Keywords,74

d. Keywords,48

44.  Keywords can not be used as names for ___________.

a. Variable

b. Class

c. Method

d. All of the above

45. External variables are also known as _____________ and automatically initialized to _____________. 

   a. Global, zero
   b. Auto,Zero

   c. Static ,Zero

d. None of the above


46.  Static variables are a mix of ______and __________variables.

a. External, automatic
b. Auto ,Static

c. Static, Auto

d. None of the above

47. The loop (for (j=0;j<100;j=j+2) will be executed how many times

a. 100 

b. 50


c. 51

d. 49

48. Const and goto are reserved but not used.

a. True

b. False

c. Not related 

d. None of the above

49.  Inheritance has many forms as :

1. Single inheritance

2. multiple inheritance 

3. Hierarchical inheritance 

4. Multilevel inheritance

5. Hybrid inheritance

a) ALL

b) Only 1 ,2 and 3

c) Only 1, 3 and 5

d) Only 1, 3 and 4

 

50.     i. Global variable last for the duration of program execution.

ii. Local variables are created when their scope is entered and destroyed when their scope is exited.

a. Both i and ii are true

b. Only i is true

c. Both i and ii are false

d. Only ii is true

51. i. The memory space for global variables is reserved prior to program execution

ii. The memory space for local variables is allocated on the fly during 

program execution.

a. Both are false

b. i is false ii is true

c. i is true ii is false

d. both are true

52. Function overloading is appropriate for:

i) Definition functions which essentially do the same thing , but operate on different data types. 

ii) providing alternate interfaces to the same function.

a. Only i is true

b. Only ii is true

c. Both are true

d. Both are false

53. i) this pointers are not accessible for static member functions.

ii) this pointer are not modifiable.

a. only i is true

b. only ii is true

c. both a and b

d. none of the above

54. i) Function templates are not implemented like regular functions.

ii)Function templates are prefixed with the keyword template

a. i is true and ii is false

b. i is false and ii is true

c. both are false

d. Both are true

55. A compiler converts the Java program into an intermediate language representation called____which is platform ______.

a. Bytecode, Independent

b. Byte , Dependent

c. Bit, Related

d. Bytecode,Unrelated

56. The concept of ________ is possible in java. 

a. Write once, run anywhere

b. Write anywhere and run anywhere

c. Write anywhere and run 

d. Write where and run anywhere

57.______ can be used as a variable name. Java makes use of all these resources with the help of a class called ____

a. Variable,System

b. Auto, System

c. Keywords,System

d. Words ,System

58. Main method follows the rule

a. The primary name of the file in which the code is written and the name of the class that has the main method() method should be exactly the same.

b. IF you try to execute a Java application that does not have a main() method will g ive the error.

a. a is true and b is false
b. a is true and b is true
c. a is false and b is false

d. a is false and b is true

59.  __________ operator is used to create a class object. To invoke a method, the method name must be followed by ___________ and  a_____.

a. New , parentheses , semicolon

b. New , parentheses, colon

c. New , Bracket , colon

d. Old , parentheses, semicolon

60. There are  kind of operator 

a. Arithmetic Operators and Comparison Operators 

b. Comparison Operators 

c. Relational Operators and Comparison Operators 

d. Relational Operators and Arithmetic Operators and Logical Operators


                   4 Marks Questions 

61. A file can be opened in C++ by

           i)Using the constructor of the stream class 

ii)Using the open() function of the stream

a. Only i) is true

b. Only ii) is true

c. Both are true

d. None is true

62. Control flow statements 

a. Decision making statements 

b. Looping Statements

c. Other Statements

a. All are valid statements

b.   a  and b  are valid

c. a and c are valid

d. a is valid

63. The output of the following will be :

void main()

{

int s1,s2,num;

s1=s2=0;

for(x=0;x<11;x++)

{

cin<<num;

if(num>0)s1+=num;else s2=/num;

}

cout<<s1<<s2;

}

a. runtime error

b. compilation error

c. 1,1

a. 0,1

64. The output of the following will be :

int x=20;

void main()

{int x=10;

x=x+15;

::x=::x+15;

cout<<x<<::x;

}

output of the program is:

a. error

b. 35,25

c. 25,35

d. 35,35

65. The output of the code is:

void strfn(char * *s)

{

char *n=”INDIA”;

*s=n;

}

void main()

{

char *str=”Bharat”;

strfn(&str);

for(int x=0; str[x]>0;x++)

{

for(int y=0;y<=x;y++)

cout<<str[y];

cout<<endl;

}

}

a) INDIA

b) Bharat

c) 

I

IN

IND

INDI

INDIA

d) none of the above

66. What storage class would you use for the following situations?

a. a’1 is a formal argument to a function - auto

b. b’1 is a variable to be shared by three files – exterm

c. c’1 Variable is to be shared by the function in one file but hidden from other files – static global

d. d’1 deeps track of  how many times the function containing it has been called? – static local

67. The output of the following:

public:

per(char *s, float a)

{

strcpy(name,s);

age=a;

}

per &GR(per&x)

{

if(x.age>=age)

return x;

else

return *this;

}

void display()

{

cout<<”name”<<name<<”\n”;

cout<<”age”<<age<<”\n”;

}

};

void main()

{

per

P1(“RAMU”,27.5),

P2(“RAJU”,53),

P3(“KALU”,40);

per P(‘\0’,0);

P=P1.GR(P3);P.display();

P=P2.GR(P3);P.display();

}

a) 
nameKALU

age40

nameRAJU

age53

b) 
nameRAMU

age27.5

nameRAJU

age53

c) 
nameRAMU

age27.5

nameKALU

age40

d) 
none of the above

68. The output of following will be 

void main()

{

int b = 2 ;

switch (b)

{

case 1: cout<<"one";

case 2: cout<<"two";

case 3: cout<<"three";

default :cout<<"invalid";

}

}

a. two

b. two three invalid

c. erro
r

d. invalid

69. The output of following will be 

void main()

{

int y , x = 12 ;

y = ++x ;

cout<<y;

cout<< x;

}

a. 13 13

b. 13 12

c. 12 13

d. 12 12

70. The output of the following code is:

void main()

{

char s[]=”Churchgate:no church no gate”;

char t[25];

char *ss , *tt;

ss=s;

while(*ss!=’\0’)

ss++=tt++;

cout<<t

getch();

}

a. no display

b. error

c. Churchgate:no church no gate

d. Churchgate

71. Output of the following code is:

#include<iostream.h>

class myclass

{

int a;

public:

myclass();

~myclass();

void show();

};

myclass::myclass()

{

cout<<”In constructor\n”;

a=10;

}

myclass::~myclass()

{

cout<<”destructor:”;

}

void myclass::show()

{

cout<<a<<”\n”;

}

void main()

{

myclass ab;

ab.show();

getch();

}

a) In contructor 10

b) 10 destructor

c) In constructor 10 Destructor

d) None of the above

72. What will be the output of the following:

#include<iostream.h>

class integer

{

int m,n;

public:

integer(int , int);

void display(void)

{

cout<<”m=”<<m<<”\n”;

cout<<”n=”<<n<<”\n”;

}

};

integer::integer(int x, int y)

{

m=x;

n=y;

}

main()

{

integer int1(0,100);

integer int2=integer(25,75);

cout<<”\n Object1”<<”\n”;

int1.display();

cout<<”\n OBJECT2”<<”\n”;

int2.display();

}

a) 
Object1

m=0

n=10

b) 
OBJECT2

m=25

n=75

c) 
Object1

m=25

n=75

d) None of the above

73. The output of the following is

#include<iostream.h>

struct PLAY

{

int score,bonus;};

void Calculate(PLAY &P,int

N=10)

{

P.score++;

P.bonus+=N;

}

void main()

{

PLAY PL={10,15};

Calculate(PL,5);

cout<<PL.score<<”;”<<PL.bonus<

<endl

Calculate(PL);

cout<<PL.Score<<”;”<<PL.bonus

<<endl;

Calculate(PL,15);

cout<<PL.score<<”;”<<PL.bonus<

<endl;

}


a) 
11:20

12:30

13:45

b) 
11:40

12:30

13:45

c) 
11:20

12:30

13:30

      d)        none of the above

74. Searching strings class provides two methods that allow you to search a string for a specified character of substring. 

a. IndexOf()

b. LastIndexOf()

c. Substring()

d. Concat()

a. a,b,c are valid

b. a,bare valid

c. a,c,d are valid

d. a,d are valid

75. Sring Buffer is peer class of string that provides much of the functionality of strings.String Buffer defines these constuctors :

a. StringBuffer

b. StringBuffer(int size)

c. StringBuffer(String str)

a. a,c are valid

b. a,b are valid

c. b,c are valid

d. a,b,c are valid
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